D. Analyze the linear transformation, L(x)=Dx, that transforms the unit square into the figure
below by doing the following:
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1. Determine the entries of the 2x2 matrix D.
P=1a b
A 4

2. Describe how you determined the entries of D.
5&\% one of the verhias of +the (ﬂﬂkfﬁ%izie}gv@m@ s ok (0,0), the columns of
T con be detormined by usmg any two of 4he other verhiess of the paraiielogram.

So | chese vevhas (2, yand (l,4) to commt U with matiX D,

3. Compare the values of the determinant of D and the area of the figure, showing all work.
“merefore, he avea of the paralielogrom

det D= 204> - b(2) : \
\ \ s 4 square uniks

\deADl= ¥ ~12
Ldet B =1-41

det D=4



